charged

Ratio to ATLAS

50

40

30

20

10

[EEY

0.5

8000 GeV pp

Average N ) (p_>0.5, central, | < 2.1) _
Cc

— W ATLAS
--G-- Herwig++ 2.7.1 default

| ---- Herwig 7.2.1 default |
— ¢ Sherpa 2.2.9 default —

B Te |
- b/ -
- ar T ] ]
i m m
B B m u .
- e d i .
N S _
A _|
| 54 _
_, [y | N | | | | [y | | | | | | |_
T L L
- o, -
- ? | n
BE-EER 85 g-cEl -
......... P T S T S K S S S S S S S
0 500 1000 1500

Jet P, [GeV]

Rivet 3.1.10, = 2.7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


